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PHILOSOPHY
Paper III

EMEMIE]
PEECIECAEIN

Time Allowed : 2% Hours] [Maximum Marks : 150
Note : This Question Paper contains Seventy Five (75) multiple choice questions.
Each question carries Two (2) marks. Attempt A/l questions.

oAl : A YA THY UeEal (75) dgudEl WA fool ofRd. Yosh WA & (2)
U 3ed. |E YA Hiea.
1. Which of the following is frue | 1. NG STTAMRIST JEIcTUshl IV T
about the Buddhist theory of M ?

= 2
Anumana ! 1 %1% - >

(1) Hetu is Trilaksanatmaka

(2) AT AR & ageait AT 9T
(2) Vyapti is derived from S S

tadatmya and tadutpatti

(3) ITUTl ATHM B FATHATET Teh
(3) Anupalabdhi anumana is a

TR 3T
variety of anumana
(4) SFEYTUTE § FRqd Teh &0
(4) Asatpratipaksatva is one of the .
conditions of good hetu
g

Options :

(A) (1), (2) and (4) (A) (1), (2) smfur (4)

(B) (2), (3) and (4) (B) (2), (3) 37fur (4)
(C) (1), (2) and (3) (C) (1), (2) 37fur (3)
D) (1), (3) and (4) (D) (1), (3) 3T (4)

3 [P.T.O.



Match List I with List IT and select
the correct answer from the codes

given below :

List I
(a) Pramana Samuccaya
(b) Pramana Mimamsa
(0 Nyayavatara
(d Nyayabindu

List II
(1) Dharmakirti
(2) Siddhasena
(3) Hemacandra
(4) Dinnaga
Codes

(@ (b (o (d

A @O 2 3 @
@ 2 B3 @O @
© @ & @ @

M @ 2 B @

JAN - 12318/I1I—B
=1 e I e Sesel 0T et
feoiedl Fehdiehlqd ard 3ak FaeT :

e 1
() TET q==
(b) FHIT HHE

(0 —EEdR
(d) =rEfeg,
T 11

(1) gH®RIRd

2) fagEm

(3) ®H=E

4) fegm

Hehdiah :

(@ b (© (@
A @1 @2 @G @
B @2 3 @O @
© @ 3 @ @

O @ @2 & @D




Find out which of the following is
not included in the Buddhist

classification of anumana ?

(1) Samanyatodrsta Anumana
(2) Svabhavanumana

(3) Anyathanupapanna anumana
(4) Anupalabdhi anumana
Options :

(A) (1) and (3)

(B) (1), (2) and (3)

(C) (2) and (4)

(D) (2), (3) and (4)

Nirvikalpaka and Savikalpaka are
two stages of pratyaksa Jnana. This

view is held by the :
(A) Naiyayikas

(B) Carvakas

(C) Buddhists

(D) Naiyayikas and Carvakas

JAN - 12318/II1I—B

qErAueh! HIMET AGUTOTA STTAATA
SR 0T FATSST B ARl ? d 3fesel

(1) HHRAGS 3TTHH

(2) TEHETTHEH

(3) TAYIIIA STTHM
(4) STgueeH STIAM
=i

(A) (1) s7for (3)

(B) (1), (2) =1 (3)
(C) (2) 311 (4)

(D) (2), (3) =0T (4)

fallaX

Mfdehcdeh & HideheUsh I AT

T YT TRA. § HA ¥RU &
AT

(A) TR

(B) =matehi

(C) gt

(D) “=faesh o =ik A <R

[P.T.O.



Right faith, right knowledge and

right conduct are known as ..............

(A) Triratna

(B) Triguna

(C) Tripitak

(D) None of the above

Which among the following are not
the kinds of Pratyaksa according to

Nyaya ?

(A) Samanyalaksna and

Jnanalaksana

(B) Laukika and Alaukika

(C) Nirvikalpa and Savikalpa

(D) Vahaya and Antara

JAN - 12318/II1I—B

TR, T, TR, 3 STI0T TR=Ieh A=l

(A) BRE
(B) B
(C) Tafues

(D) =RIAUeh! HIURE! T8l

=AM JeicTish! IV JehR Feaeir=

g FEUH Ehen @l ?

(A) GO 3T A&

(B) wiiferer amifor srciiferen

(C) fAfderca snfor wfaehcy

(D) 9l o ST
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Sadharanadharmas are to be | 7. HWERUEHE SERO] U EIE|
practised by ................. .

(A) All human beings (A) 9o AFE

(B) Hindus (B) fig

(C) Indians (C) W

(D) All beings (D) ¥& sia

The theory of varna is derived | g  <uifggde STHE™ FOQ 2

from :

(A) -G
(A) Nasadiya-sukta

(B) q&9-Y
(B) Purusa-sukta
(C) Bhagavad-gita (C) TRt
(D) Brahma-sutras (D) T 3

7 [P.T.O.



9.

10.

Rta is identified with :

(A) Satya

(B) Dharma

(C) Both satya and dharma
(D) Neither satya nor dharma

Which of the following alternatives

indicates the correct order ?

(A) Grhasthas'rama, Vanapras’
thas’rama, Brahmacaryas’-

rama and Sanyasas’rama

(B) Brahmacaryas'rama, Grhas-

thas’rama, Sanyasas’rama

and Vanaprasthas’rama

(C) Brahmacaryas’rama, Grhas-

thasrama, Vanaprasthas'rama

and Sanyasas’rama

(D) Grahasthas’rama, Brahmaca-
ryasrama, Vanaprasthas'rama

and Sanyasas’rama

9.

10.

JAN - 12318/111—B
%A B deEY ArARN Fefud SR
(A) et
(B) it
(C) & smfn g et
(D) WoIEl el ewel et

TTATAd®T ST TATT FT HA

geffadt 2

(A) TEEAHH, TFYEASH, T HH T
BRI

(B) =YY, TERAISH, GAEIYY 9
ElREL I

(C) SET= e, TEEIsH, TTEASH T
BRISIE

(D) T[REATSH, STET=A S, SAATEAIHH &

T




11.

12.

13.

The view that moral obligation is
based on sentiments is advocated

by :

(A) Kant
(B) Aristotle
(C) Plato
(D) Hume

Retributive theories of punishment

is based on .............

(A) Use

(B) Fairness

(C) Equality

(D) Mercy

Moral responsibility is based on :
(A) Causal agency

(B) Free agency

(C) Meritorious agency

(D) Social agency

11.

12.

13.
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“

AWa

Afder ST WeHa a3 A

il TR q hell 3.
(A) e
(B) sffiiea

(C) =

(D) =H

ap
aP
3
4
9]
ol
)
fm b)
4
%

(A) HRUMHE: HIIIOT

(B) TS HId9Um

(C) T[UMCHeh hidquM

(D) 9HIfSTeh  ShIdqon

[P.T.O.



14.

15.

The concept of good is primary for

the :

(A) Libertarian approach

(B) Contractarian approach

(C) Teleological approach

(D) Deontological approach

According to Aristotle, virtues are

(A) Ideas of reason

(B) Skills of habit

(C) Traits of personality

(D) Dispositions of character

15.

JAN - 12318/II1I—B

(A) WA g

(B) wfaftad gfteshi

(C) WISTemel giteehlAl

(D) haFaR! gfehi

IRETee=a Hd 90 BN

(A) oS FHedAl

(B) Wedlqd eTerel hived

(C) afsqawamra fage o

(D) == Y

10
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16. Identify the correct pairs : 16. 3T el e En

(1) Nyaya-Paratahpramanyavada
(1) HE-9HHTIAR

(i) Buddhists- Svatahpramanya-
_ (i) SG—Fod AR
vada

(i) Mimamsa-Paratahpraman- (1i7) THTET-TRd SHTHTIZEE

yavada

(7v) ATEI-Tod ATHTIIEE
(iv) Samkhya -Svatahpramanya-
T
vada

Options : (A) (1) nfon (1)

A )
(&) () and () (B) (i) 3 (itd)
(B) (1) and (i)
(C) (1) 3T (4v)
(C) (1) and (iv)

(D) (41 and (i) D) () (111)

11 [P.T.O.



17. Match List I with List IT and select
the correct answer from the codes

given below :
List I
(a) Social Disparity
(b)) Human Rights
(o Utilitarianism
(d) Deontological moral theory
List II
(1) Disproportion
(2) Universality
(3) Maximum hapiness
(4) Duty for duty’s sake
Codes :

(@ (b (o (d
@A @O @2 @ @
B 1 @ @ @
© @ @2 & @

M @ B3 @ @

JAN - 12318/II1I—B

17. = 12t =t I & S[esen 3fvr et

feeiean Hehdlehlqd ard e feel :

et 1

(7) TMEISTeh ATHGT

(b) UGl BFR

(0 SIFKAIE

a_n

(d) dr=l hdedeel U9l

g 11

(1) THTOTSHET

(2) Gl

(3) aTeRIfyes 31T

(4) HAAES e
Hehdich :

@ b (o (d
A 1 @ & @
B 1 @ Q) @
© @ @ & @

D @ 3 @ @

12



18.

‘In a Different Voice’ was authorised

by :

(A) Carol Gilligan

(B) J.S. Mill

(C) Simone De Beauvoir

(D) Mary Wollstonecraft

JAN - 12318/II1I—B

19. Who was an ethical non- | 19 3fgs F-JgfifFaret o 2ar ?
naturalist ?
(A)
(A) Moore
(B) S.ug. foea
(B) J.S. Mill
(C) Kant ©) ==
(D) Gandhi (D) et
20. What do you mean by moral | 9o 3Ifgs fowdfieare = &9 2
subjectivism ? .
(A) Hidteriial dafeaer gftehio
(A) Individual views on morality
(B) idieiiel SHrsm=l Hd
(B) Society’s views on morality
(C) wreptea et 9 Hd
(C) People’s attitudes and opinions
D) Sttt HTErel
(D) None of the above @) Rt et
13 [P.T.O.



21.

22.

Utilitarianism is a

theory.

(A) Teleological

(B) Deontological

(C) Emotivist

(D) Naturalist

“All that glitters is not gold” is a
.............. type of proposition.

A E

(B) A

©C) 1

D) O

22.

JAN - 12318/II1I—B

(A) YISTART

(B) whdegeral

(C) I

(D) frtaret

“Tamhd 9 W 9H TEdT ®

TR faum eTe.

(A) E

(B) A

(C) 1

D) O

14



23.

24.

Examine given agument and choose
the correct name of the fallacy out

of codes given below :
Argument :

No men are perfect.

All men are animals.

No animals are perfect.
(A) Fallacy of Illicit Major
(B) Fallacy of Illicit Minor
(C) Fallacy of Illicit Middle
(D) None of the above

The subject term of the conclusion

of a syllogism is called .........
(A) Copula
(B) Middle term

(C) Minor term

(D) Major term

23.

24.

JAN - 12318/II1I—B

gl FfoRdg qUH e dehart e
fooie Fehdied silesen :
FfeFe
Th E AU IRYU T
¥ HUE WO SR
(A) 3F9Y TR
(B) 379 U&Ug
(C) 38 HeATR
(D) STkl Thgl TRl
Hfgemarear  fAshei=ar  IEITUTe
T
(A) HASTH
(B) #¥9Uq
(C) &
(D) §reAug

15

[P.T.O.



25.

26.

The proposition in which both the

subject and predicate terms are

distributed is a ............ proposition.
(A) O
(B) I
(C) E

D) A

The relation between ‘A’ and ‘E’

propositions is called ...............
(A) Contrary
(B) Sub-contrary

(C) Contradictory

(D) Subalternation

25.

26.

JAN - 12318/II1I—B

1 fauMel 3291 Ug ST fae™ ug

A) O

(B) 1

(C) E

D) A

‘A enfor E foumrda geere
(A) faig
(B) Sufediy

(C) =Fred

(D) SuTferd

16



27.

28.

Proposition must be

(A) True

(B) Tautologous

(C) Neither true nor false

(D) Either true or false

If the statement ‘p’ is false and the
statement ‘q’ is true, the truth-
value of the statements ‘p D q’ and
‘“~p.q are :

(A) Both the statements ‘p D q’ and

‘“~ p.q are true

(B) Both the statements ‘p D q’ and

‘~ p.q are false

(C) The statement ‘p D q’ is true and

‘“~ p.q is false

(D) The statement ‘p D q’ is false

and ‘~ p . q’ is true

27.

28.

JAN - 12318/II1—B
(A) 93
(B) gad: TH

(aV

(C) TIEt -8l 3THIel T8l

(D) TR g foar s/

R ‘p’ ® faum swae enfor <@ © faum
T 38A, W poOq M ‘~p. ¢
1 oA wed o AR

(A) poq 3T~ p. g & et faum

q

(B) p> q M~ p . q & =R

fagm s

(C) ‘pogeaam T a0 ‘~ p . ¢

¥ 3T T8
M) p o q T faem 1w sufo

‘“p.q T TH MR

17

[P.T.O.



29.

30.

Find out the correct match :

(A) Tautology ~{@.~p
(B) Contingent pVvV~Dp
(C) Law of Double ~ (~ A D)
Negation
(Ix) ¢x
(D) Rule of E.G. - oa

The correct symbolization of the

following proposition is :

Statement : Authors and poets are

intelligent and successful.
(A) X)[(Ax . Px) o (Ix . Sx)]
(B) ®)[(Ax . Px) o (Ix v Sx)]

C) X(Ax . Px) . (Ix . Sx)]

D) ®[(Ax v Px) D (Ix . Sx)]

29.

30.

JAN - 12318/I11—B
Ik SISl Sles@l :

(A) Fed: 9 ~(.~p

A\

(B) AT TAEE pv ~p

(C) fgarfou=if™a ~(~Ap)
(D) famEt
3
5 - (..X)q)d;x

qéidl faumr srger fegder ome

faerm : TrEe o7t wat § gigam st

IIME] 3.
(A) X[(Ax . Px) o (Ix . Sx)]
(B) x)[(Ax . Px) o (Ix v Sx)]

C) X(Ax . Px) . (Ix . Sx)]

D) ®[(Ax v Px) o (Ix . Sx)]

18
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31. Ahurmazda is the supreme God | 31. 3TEHHASI T TH IyR M ¥ HA
according to : AR
(A) Hinduism (A) fegeH
(B) Christianity (B) Tas=mem
(C) Zoroastrianism (C) SRY=M=T 9d
(D) Islam (D) %™ oH
32. Guru Nanak is the founder of ......... 32. & AM® © GEAUH ed
(A) Islam (A) T=IM H=
(B) Sikhism (B) dr@ &q=
(C) Vaisnavism (C) JerE e
(D) None of the above (D) Skt FIvAE TAE AR
33. Everything in the universe is | 33 fgsgrier Gd®El g oM oMo
contingent and there must be el TR S o ST ot
something which is non-contingent, 5 . .
and that something is God, which R S A ST
is a necessary being. This is the SIRE IS N I EEARI G B
........... argument for the proof of JKIaR TR :
existence of God.
(A) Hfaw
(A) Moral
(B) AT
(B) Design
(C) Ontological (C) HHRTE
(D) Cosmological (D) fagasrrumE
19 [P.T.O.



34. ‘Tirthankar’ and ‘Tathagata’ are

35.

terms associated with :

(A) Jainism and Hinduism

(B) Jainism and Buddhism

(C) Sikhism and Hinduism

(D) Judaism and Jainism

Is’vara is only nimitta karana of

the world is held of :

(A) Nyaya system

(B) Vedanta system

(C) Jainism

(D) Mimamsa system

JAN - 12318/II1I—B

34. ‘ddwy’ for ‘qur’ € U gerud

35.

ed :

(A) SHgH et fegemmen

(B) SHud amfor srgedtsh

(C) HrayH enfor fégermfeh

(D) g emfor Sewfeh

[ a3 o)

Yy S e fAfH

T IO 3T

T Hd T :

(A) <TFEsHEN

(B) AeT<aeyH

(C) SHeeHN

20
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36. Name the author of the article ‘On | 36. ‘& feqifén’ =1 wi@ fafgur=n @
Denoting’ : RIS
(A) Quine (A) AT
(B) Davidson (B) efgedd
(C) Russell (C) T
(D) Frege (D) ®T
37. Frege makes a distinction between | 37 w7 It Iqd Y holl AR
the following :
(A) a1 smfor gearen e
(A) Sense and truth conditions
(B) ¥ oTfU1 FAT=AT 3L
(B) Truth and truth conditions
OEECE L CHE
(C) Sense and nonsense
D) =7 emfor facwn
(D) Sense and reference @)
21 [P.T.O.



38. Who maintained that language

39.

functions not on sentence-to-

sentence basis, but as a whole ?

(A) Frege

(B) Russell

(C) Quine

(D) Early Wittgenstein

What is the nature of Strawson’s

metaphysics ?

(A) Revisionary

(B) Idealistic

(C) Descriptive

(D) Nihilistic

JAN - 12318/II1I—B

38. 9O SRl SAERER T A Hdl

39.

T SMURER h1E hid 379 hIvl

el 3T ?

(A) HI

(B) W«

(C) wamEd

(D) YR faeiimere

H g ?

(A) TSRS

(B) fecart

(C) IvHTHS

(D) IAmERT

22



40.

Name the author of ‘Philosophical

40.

JAN - 12318/II1I—B

‘frataiftherdl SRR’ A1 GEhT=

Investigations’ : e A9
(A) Early Wittgentein (A) IRH=1 faeimerd
(B) Russell (B) @&
(C) Frege (C) W
(D) Later Wittgenstein (D) = o=
41. Wilhem Dilthey introduces the | 41. foaces feeeft =T RESETS kIl
concept of : et
(A) Categories of life (A) ST il
(B) Categories of understanding (B) AT hidl
(C) Categories of consciousness (C) o= e
(D) Categories of objects (D) ER?EEIT Eqri|
23 [P.T.O.



42. A major problem associated with the

43.

method of hermeneutics is :

(A) Conflict of interpretations

(B) Transparency of meaning

(C) Interdependence of interpre-

tation and understanding

(D)

Role of grammar in interpre-

tation

Which of the following is not a part

of the method of Phenomenology ?

(A) Dialectics

(B) Epoche

(C) Intentional analysis

(D) Reduction

JAN - 12318/II1I—B

42. 1y YSdel Hfed gea

43.

(A) sredfeieom=n ger

(B) 79f=i gRegiehd

(C) Feffaerfror eqfor srrerew =aT1=

RO o

(D) sreifeiRomdiel saeRtom=t firent

AN n n o
CllctledYenl enld HIAEHAARIIATE Y& ald]

g ATEr ?

(A) ggfaem

(B) T

(C) fosmafugeder snemfia fawersm

(D) Tum

24



44. Match of the following :

Group I

(a) Carvaka

(b) Bauddha

(0  Kumarila

(d) Prabhakara

Group II

() five pramanas

(1) six pramanas

(i) two pramanas

(7v) one pramana

Codes :

(@ b (o (@
A) () G Gv) ()
B) () () Gv) ()
©) v () () ()

D) (i Gw D) ()

44. Sred Sl

e 1
OREIEIED

(b) ™
(0 B
(d) THTHT
e II
(1) °rE FE
(i) H& YHO
(izi) TF H
(Zv) Tk JHTO
Hichdleh :
(@) (b
(A) () (i)
(B) (i) (i)

(C) (v (i1

D) (1) v

JAN - 12318/II1I—B

(0 (d

(iv) ()

(iv) ()

(i ()

(7)) (J)
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45.

46.

47.

Husserl wanted philosophy to

become :

(A) an empirical science
(B) a rigorous science
(C) a speculative science
(D) a normative science

Which theory of error is upheld by
S’amkara ?

(A) Akhyati

(B) Satkhyati

(C) Anirvachaniyakhyati

(D) Viparita-khyati

According to Ramanuja individual

soul is

(A) non-dual with a God
(B) Reflection due to ignorance

(C) Real enjoyer and agent

(D) The Brahman

45.

46.

47.

JAN - 12318/II1I—B

RENEICIRGCRIE

A,

(A) TH FgHes fo=i
(B) T HISHIETEA
(C) T foarHeRT

(D) Teh HATCHRIMEA

SThTETAIAT IVl FehRAT TATIaR
e ?

(A) et

(B) Gt

(C) eI

(D) foroiceardt

{|H|:lw|i-d,,|| Y S ST /R

(A) STIRT TEd T8

(B) STMes 3H<eel fafaa 31g
(C) aRqa Wikl ST shal STd

(D) & 38
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48.

49.

50.

In case of conflict between sense
experience and testimony S’amkara

prescribes to go by :
(A) Testimony

(B) Sense experience
(C) Reason

(D) Inference

Acceptance of Brahman as Supreme
Reality points to :

(A) Subjective Realism
(B) Subjective Idealism
(C) Objective Idealism

(D) Objective Realism

According to Ramanuja

Dharmabhutjnana and Nityabhuti

(A) Jad Dravyas
(B) Chetana Dravyas
(C) Ajada Dravyas

(D) Unreal drvyas

48.

49.

JAN - 12318/II1I—B

ST o VIS A Fersl/foeTelt Teceers

.
(A) TTSETHTT
(B) sfsamgwe
(C) &

(D) TN

sifow w1 T"UE SR WER w7

(A) SHfdfss araag

(B) =afefss fage
(C) aggfts fage

(D) EfT3 aaeg

[P.T.O.



51.

52.

‘All the wealth belongs to God and
those who hold it are trustees not

possessor’ was stated by

(A) Tolstoy

(B) Vinobha Bhave

(C) Gandhi

(D) Tagore

Which of the following would Gandhi

not accept ?

(A) A good end justifies the means

to it

(B) End and means are convertible

terms

(C) Satya is the end, ahimsa is the

means

(D) End and means are

interdependent

JAN - 12318/II1I—B

51. T GUxIl SO ST 7107 <t SRS

52.

T o fa= favasa 219ama, Aretes T9ard ¢

(A) e

(B) fodren v

(C) el

(D) MR

@i R AT SR 3T

(A) 9 e WEAE FHEA S

(B) 9ied 3mfor |ied WER qiadHia

aTRd

(C) T e o1g oMfur e1fedn =

a3’

(D) Hrem SNfor e WEasl 38
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53.

54.

The journal Harijan was run

(A) Ambedkar
(B) Sri Aurobindo

(C) Gandhi

(D) Swami Vivekananda

Gandhi criticised industrialisation in

one of the following :

53.

54.

JAN - 12318/II1I—B

g § Tradeteres
(A) SATETH
(B) it arfae

(C) T

(D) @ faaeTe
e SRRt qeiar femamoma
T et 311% $

(A) Education (A) Torero
(B) Hind Swaraj (B) fég w=ms
(C) Key to Health (C) ARTIT=T Tﬁh?vﬁ
(D) My Experiments With Truth (D) 91 FA= TI@
55. Gandhian Economics is based on | 55 wieffg srefomey T MYTRA
........... .
(A) Spiritual principle (A) sTeTfeRss 9w
(B) Social principle (B) 9N d<d
(C) Economic principle (C) el T
(D) All of the above (D) e §d
29 [P.T.O.



56.

57.

Which of the following principles is

not mentioned by Ramanuja in

Tattvatraya ?

(A) Spirit (Cit)

(B) Matter (Acit)

(C) Time (Kala)

(D) God (Is’vara)

According to S’ankaracarya the

world is real only as ...........
(A) Paramarthika Satta
(B) Vyavaharika Satta

(C) Both (A) and (B)

(D) Neither (A) nor (B)

56.

57.
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BITATAdSRT ST dxar=l FHTATT

NEIESIEIICICE R |

A) &g

(B) e

(A) IRHETIE T

(B) AR I

(C) (A) efor (B) St

D) 7 (A) 7 (B)
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58.

59.

According to Jaina Dars’ana,

Dravya (Substance) has

(A) Samanya, Vis’esa

(B) Guna, Paryaya

(C) Guna, Samanya

(D) Paryaya, Vis’esa

Dravyas (substances) are

advocated by Vais’esika.

(A) 6

(B) 3

© 9

(D) 10

59.
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A g STHa.

(A) gm=, fagm

(B) U1, WA

(C) U, "HA

(D) waE, fagm

N LTSI .\
so4  AHlHldetel

(A) 6

(B) 3

€ 9

(D) 10
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60. If Karana is inseparably connected

61.

with the effect, then the Karana is

called ..............

(A) Samavayi Karana (inherent

cause)

(B) Asamavayi Karana (non-

inherent cause)

(C) Pratiyogi Karana (opposite

cause)

(D) Nimitta Karana (efficient

cause)

Hobbes is a/an ............
(A) Nominalist
(B) Conceptualist

(C) Idealist

(D) Rationalist

JAN - 12318/II1I—B

N0

60. SR HRU KA AT S

61.

(A) HHETE! R

(B) STHHART I

(C) gfaartt &R

(A) HerET
(B) HehoUATEaE!
(C) Togar
(D) Ffgamat
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62. According to ............ , Being is one | 62. T = °d, ‘q9q Tk 9 SAfaars
and indivisible. e,
(A) Heraclitus (A) elfried
(B) Plato (B) w1
(C) Aristotle (C) sif=ied
(D) Parmenides (D) UHEfeH
63. ‘Degrees of truth’ are maintained | 63. TETAT AU AW, & FAURA UM
by : e ?
(A) Plato (A) =f
(B) Aristotle (B) sift=ied
(C) Bradley (C) sfeett
(D) Kant (D) &
64. Brain-mind identity theory is put | 64. THg-¥1 TR IYU HIVT TS ?
forth by :
(A) <ehTd
(A) Descartes
(B) feqarsm
(B) Spinoza
(C) WA
(C) Ryle
(D) J.J.C. Smart @) S =
33 [P.T.O.



65.

66.

Who speaks of feigning the

identity ?
(A) Locke
(B) Berkeley
(C) Hume
(D) Kant

Which of the following is maintained
by Abhihitanvayavada ?

(1)
(1)

Words have separate meaning.

The meanings of indepednent
words get connected to express

sentence-meaning

(111 Words function to help convey

the meaning of a sentence.

(iv) Meaning of a sentence is a
function of the meanings of the

component words.
Options
(A) () and (i)
(B) (1), (i) and (ii1)
(C) (2, (i) and (1)

(D) (1), (i) and (iv)

65.

66.

JAN - 12318/I11—B
e feeft S, /@ o w2
(A) @

(B) kel

(C) =

(D) e

sTffEaroEERT qeiaden! S @R
e ?
() TR @A a1 THan

(7)) T vegr 31 areRmete 31fi-

AT Tehd Slieel ST

(777 TR fTee HITIEET IS ©

YA WUH A HA

(7v) e ® Seeh SregieAT UM
KR

LRI R

(A) (1) =T ()

(B) (2), () Swfor (izd)
(C) (1), (i7) 3o (4v)

D) (2, (D) 3 (1v)
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67. According to Anyathakhyati : 67. SAIAEANITER :
(A) Object of error is unreal (A) yEr=n fom staq o9l
(B) Object of error is imaginary (B) yur=n fawg sheafies o1dal
(C) Object of error is real (C) yHr=n oo | 3t&dl
(D) Object of error is elsewhere and (D) = foavE o= stEal ST |q
is real 7Tl
68. Identify the frue sentences : 68. O fgumy fesEn
(1) Accordin to Buddhists, .
8 () G FAGER FE § Hord: STIE
knowledge is intrinsically
o 3TEd
invalid.
(i) According to Naiyayikas () “SfaeRT=n HATJER A= ATHTTT
invalidity of knowledge is Tq: = s
extrinsic. .
(77)) IHRI=AT HATJER AME STHHTY
(iz1) According to Prabhakara, )
afHfed 3THd
invalidity of knowledge is
intrinsic. =i
Options : (&) (), (i) 3 (i)
(A) (1), (i1 and (711)
(B) e (1)
(B) only (1)
(C) () =nfor (47
(C) () and (11)
(D) only (i) D) = ()
35 [P.T.O.



69. Match List I with List IT and select
the correct answer from the codes

given below :
List I

(a) Pratyaksa and Anumana

(b))  Anumana and S’abda

(9 S’abda and Upamana

(d) Upamana and Anuplabdhi
List II

(1) Sankhya

(2) Bauddha

3) Purvamimamsa

(4) Nyaya

Codes :

(a b (© (d

A 2 1 @ 3

B) B 1 @ @

© DD @ B @

M @ B3 @ @
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69. = I 9 F= 11 & Seoan U1 et
feeiean Fahdiehgd 9a 3ar faeT -

e 1
(a) 998 @ ATHH
(b) JIAA T I
(0 Tsg 9 3IYA
(d) 39AH 9 3TIucTeHt

T 11

(1) 9=
2) &S
(8) g
4) =
Hehdieh :

(@ b (© (@
A @2 O @ ©
B 3 O @ @2
© @1 @ B @

D @ 3 @ @
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70.

71.

Which of the following theories of
pramanya (Validity) accepted by
Nyaya darsan ?

(A) Svatah-Pramanya (Intrinsic

validity)

(B) Svatah-Apramanya (Intrinsic

invalidity)

(C) Paratah-Pramanya (Extrinsic

validity)

(D) Svatah-Pramanya and

Paratah-Apramanya (Intrinsic

Validity and Extrinsic Validity)

Knowledge that has no source in

experience can be termed as :

(A) A priori

(B) A posteriori

(C) Tentative

(D) Synthetic

JAN - 12318/II1I—B

70. =M SIHM YHOHE] @eiieideh! ShioTdl

SUTR TRt 3R ?

(A) Hd:-gHY

(B) Ed:-3YHTT

(C) 9a:-gmHg

(D) Ed:-9mEmeg ST 9ld ;- STUTHT0Y

71. I AT FH SHESE TG, @Ml

(A) STI9aqd

(B) 3THERR

(C) dIcqRd

(D) TYAH
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72. The condition of knowledge that

73.

connotes objectivity is :

(A) dJustification

(B) Truth

(C) Correspondence

(D) Verification

Edmund Gettier’s famous paper

published in 1963 was entitled :

(A) Justified true belief is not

knowledge
(B) Knowledge cannot be defined
(C) Is justified true Dbelief

knowledge ?

(D) Why is justified true belief

knowledge ?

JAN - 12318/II1I—B

72. T ALTUURT SIS Giad IR

73.

(LU

(A) THAT

(B) 9t

(C) 3=

(D) Tle

1963 gl YH13Td ATl TSHS

Tfge=n wfag Wy ey s .

(A) T I T GROM & 9 R

(B) M= SAT@A kil Ad ATl

(C) FAT I Hed 9o & ¥E 3R

w2

(D) AT U T NN & 9

My ?
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74.

The semantic theory of truth was

offered by :

(A) Ryle

(B) Moore

(C) Tarski

(D) Russell

74. IISIAVS UG HIS ol

JAN - 12318/II1I—B

TE.

(A) TsA

(B) W

(C) i

(D) &

75. The truth of the premises of an | 75 i Flarareren MeR faumm T
inductive argument do not : | ... o=
(A) in a priori way lead to the truth NP .
P d (A) sTvEgd JdH Frehsi=a T@-
of its conclusion
T
(B) prima facie lead to the truth of
(B) ¥&q <M Fehsi=a q@rdd
its conclusion
(C) STwentHftad A Fehei= Heorer-
(C) in a posteriori way lead to the
T
truth of its conclusion
(D) prospectively lead to the truth (D) siferearetadt et frreshoiean wea-
of its conclusion =
39 [P.T.O.
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ROUGH WORK
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